Ramp Signal Generation R13

300k
N5 R27
w O+
S5.& R2 square pulse H
I 10K SAR triangle
R20 |
Xo BNQ CONA 0k g $
2] TLOT4P 6l
= | R7 _GND R10 4
— +15V H
At 1K N30K 5 5 DCoffset XD
IC14 > S1RMPONOFF bypass caps on
JaYING o
GND 1
10k
R1 R3 VAR +15V
w0
30k 10k ~ 100nF
GND < 3l |5
CND e B ic1c
8
9 w n
cN\D I 9 TLO74P 3 2 -
B
) -15v chp
-15V
Gain Section
1
0k |
>
R30 PIEZO
S1INTOFFON
0k Sya BNC_CPNA
— 20k 20k
R31 ’ 1
R35 GND
2) 1
10k JP3
e TLO72P
R29 +15V
2 TLO72P (o)
1
3l TS
IC6A C12 5 3
LP filter I M
GND
. GND |
Input Section
GND
) s ) . ) e ) -
Error Signal DC Offset 2 Invert Option Piezo Gain
Differential Input < Ty
- =
S2INV FRRMAG I
2 . = re
10k @
10k S2INV1 ;
—
1
RT6 TLO74P
14
GND
IC2D
S1GAINOFFON
GND
R
- _BNQ_CcONA| 8
Note, switching from 2-PD to 1 input wl o
achieved with appropriate gnding jumper, rTe ol |35 N
Scratch that, don't use the jumpers ET~ Error Signal Monitor +15V
they're wrong, just use a bnc short
on one of the inputs, lets you switch cND o ERRMONITOR
the phase of ffb to slow by switching S| 15V 220uH
inputs. -
BNC_CONA L1
GND +15V
10uf . @
o 8 5 8
C4 I s
FASTFB 1 GND
X—1
_<L| 10uf GND GND |
S3FASTGAIN 15V Error Signal DC c5
(can go neg) -15V 220uH <
® aa— 7
L2 o 5
A
-15v
CND 5y

GND

O
-15V

2/26/2015 3:34:24 PM f=0.73 C:\Users\Zach\Documents\eagle\green_lock\PDH_lock3.sch (Sheet: 1/1)



